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Q.1  Show that the points (−4, −9), (2, 0) and (4, 3) are collinear. 

 

Q.2  Show that the points (3, −2), (2, 5) and (8, −7) form an isosceles triangle 

 

 

Q.3. Show that the points (0, 3), (0,1) and ()2,3 are the vertices of an equilateral triangle. 

Solution: Let the points be A, B and C respectively. One way of showing that ΔABC is an 

equilateral triangle is to show that all its sides are of equal length. Here we find that 
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Q.4. Examine whether the points P (7, 1), Q (−4,−1) and R (4,5) are the vertices of a right 

triangle. 

Solution: The points P ,Q, R form a triangle. To show that ΔPQR is a right triangle, we have to show that 

one vertex angle is 90°. This is done by showing that the lengths of the sides of the triangle satisfy 

Pythagoras theorem. 

 

Q.5. Show that the points (1, 2), (2, −1), (5, 3) and (4, 6) taken in order form a parallelogram. 

Is it a rectangle  

Solution: Let the points be P1, P2 ,P3 and P4 respectively. One way of showing that P1 P2 P3 P4 is a 
parallelogram is to show that the opposite sides are of equal length. 

 

 
Q.6.  Show that the points (0, −1), (−2, 3), (6, 7) and (8, 3), taken in order form the vertices of 
a rectangle.  
Solution: Let the points be A, B, C and D respectively. One way of showing that ABCD is rectangle is to 

show that the opposite sides are of equal length and one corner angle is 90°. One way of showing that 

one corner angle is 90° is to show that the lengths of the sides of ΔABC satisfy the Pythagoras theorem. 
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Q.7 Show that the points (0, −1), (2, 1) (0, 3) and (−2, 1) taken in order form the vertices of a 
square.  
 

Solution: Let A, B, C, D be the given points respectively.  

 

One way of showing that ABCD is a square is to show that all its sides are of equal length and the 

diagonals are of equal length. 

 
Prove that the points A(2, −3), B(6, 5), C(−2, 1) and D(−6, −7), taken in order form a rhombus 
but not a square.  
Solution: One way of showing that ABCD is a rhombus is to show that all its sides are of equal length. 

One way is showing that a rhombus is not a square is to show that the diagonals are of unequal length 
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The area of a triangle is 5. Two of its vertices area (2, 1) and (3, -2). The third vertex lies on y = x 
+ 3. Find the third vertex. 

 
In what ratio does the X-axis divide the line segment joining the points (2, -3) and (5, 6) ? 

 

 


